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1) (8x12)/(6x97) 2) 3) 156 + 12
Find the next three numbersin
the sequence
0112358 , ,
Answer: Answer: Answer:
4) 156 ~ 12 5) Find the mode of the following set of data: 6) b
65, 65, 65, 65, 65, 65, 67, 67, 67,
67, 46, 46, 46, 46, 13, 13, 13, 13,
13,13 a o] c
Measure angle boa
Answer: Answer: Answer:
7) 10 g-8 Y, 8) Anamount wasdecreased by 5.7%to || 9)  What would you multiply by to
$137.00. Find the original amount. increase an amount by 4%?
Answer: Answer: Answer:

10) 300+ 25

Answer:

11)  115x65

Answer:

12)  What would you multiply by to
decrease an amount by 88%?

Answer:

13)  Yg0f176

Answer:

14)  (-403) + (-31)

Answer:

15 42456+18.3

Answer:
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16) 17) A number was shared in theratio 18) A number was shared in the ratio
10:6. The smaller share was 6. What 17:32. The smaller share was 17.
was the larger amount? What was the total amount shared?

A B =67
Find the Angle at side A.
Answer: Answer: Answer:

19) Find perimeter of 20) 754.1- 348.7

b rectangle having
sidesa=765in
a andb=2306in
Answer: Answer:
Total: /20
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1) 12 2)13,21,34,
8) $129.19 9) 1.04
15) 23.2 16) 113
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Answers:
3)13 4)13 5) 65 6) 58 7) 2%,
10) 12 11) 74.75 12) 0.12 13) 11 14) 13
17) 10 18) 49 19) 2142in 20) 405.4
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